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問題 1: 正則表現 (1 + ε)(01)∗(0 + ε)で表現される言語を文脈自由文法で表現せよ．(3点) (ちなみに正則
言語のクラスは文脈自由言語のクラスに真に含まれる．)

問題 2: Σ = {0, 1}上の言語 L = {0n1n | n > 0}を文脈自由文法で表現せよ．(3点) (ε 6∈ Lに注意する

こと)

問題 3: 問題 2で構成した文脈自由文法によって，言語 Lが正しく表現されていることを証明せよ．(4点)
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Problem 1: Define the language represented by the regular expression (1 + ε)(01)∗(0 + ε) by context
free grammar. (3 points) (Besides, the class of regular languages is properly contained in the class
of context free languages.)

Problem 2: Define the language L = {0n1n | n > 0} over Σ = {0, 1} by context free grammar. (3
points) (Note that ε 6∈ L.)

Problem 3: Prove that the context free grammar defined in Problem 2 certainly represents the language
L.


